f{/ Q TPRIHD YT

AH: IGICEE TR -
109 = (-9) =
(_8)(—2) — 42 =
6 = 32 =
(-2 = (-9)° =
(_7)2 — {(3) —
10D = (—9) =
(_6)(—2) _ 42) =
(_4)(—2) — 6=
7(3) = 92 =

www.snowmath.com



https://www.snowmath.com

TP RIAD ITdih

H:
1
D _
10 o
6> = 36
]
(2 —
(=8) 64
6> = 36
1
) =2) -
(—2) 1
(—7)* = 49
1D =1
]
A2 =
(—6) 36
]
N2 -
=4 16
]
=3 —
/ 343

(=9)=(9)

1
—o\D =
9" =()

4* =16

1
2) _ !
3 9
(—9)* = 81

1
()
8 512
(—9)=(9)

1
2) -
4 16
6=06
9> = 81

www.snowmath.com

faTiep:

TR



https://www.snowmath.com

